
302-003-002

1/6

17-11-2020 / Rev.: B

<1800

>
E

N
 
1
1
7

6

3-14

#

19E



 ( 1 : 50 )

 ( 1 : 40 )

302-003-002

2/6

NORNA PLAYGROUNDS A/S • Virkefeltet 1, DK-8740 Brædstrup • Phone +45 7575 4199 • mail@norna-playgrounds • norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used, 

a fee of 10% of the assumed contract price will be charged.

19m² 5,6x4x3m
~228 kg

~0,18m³
Ø20x375cm 75kgx2 4,5h

746

2362

0" "

100

709

1049

1389

1729

2165

2440

2650

1265

1301

1835

2950

1500

1
5
0
0

1

7

0

0

5570

3
9
2
9

MAX kg/cm

8
0
0



Parts List

DESCRIP.PART NOQTY

Ø200x3790mm, assembledD113781

Ø180x3490mm, assembledD113791

Ø120x650mm, assembledD116142

Ø140x1300mmRS001472

TaifunS120551

Side with stepsSR001071

Left ladder frameSR001111

Right ladder frameSR001121

302-003-002

3/6

RS00147

D11378

D11379

SR00107

SR00111

SR00112

RS00147

D11614

S12055



 ( 1 : 60 )

  ( 1 : 40 )

302-003-002

4/6

1
0
0

#19E

"0"

2
9
5
0

0

1
0
0
5

1
2
9
5

1
1
0
0

0

350

350

338



B ( 1 : 27 )

C ( 1 : 20 )

D ( 1 : 16 )

E ( 1 : 10,5 )

F ( 1 : 5 )

G ( 1 : 5 )

H ( 1 : 11 )

B

C

D

E

F

G

Parts List

DESCRIP.PART NOQTY

M16x170 mmLE152503

M16x300mmLE152582

M16x330 mmLE152602

M8 cap nutLE160531

M10 cap nutLE160544

M8x45mmLE160651

M10x70 mmLE160854

M16 nutLE161004

M16 - Ø30 mmLE1615212

M10-Ø20LE161568

Spacer 6mmLE165026

Ø42/38mmLE1655611

M16x157/60SR001471

H

302-003-002

5/6

NORNA 100g

(LE16604)

Lubricating paste

LE16556

LE15260

LE16152

LE16152

LE16100

LE16556 LE16556

LE15250

LE16152

LE16065

LE16053

SR00147

LE16152

LE13100

LE16502

A

B

C

D

E

LE15901

LE15108

LE16054

LE16156

LE16156

LE16085



J ( 1 : 5 )

K ( 1 : 3,4 )

Parts List

DESCRIP.PART NOQTY

ShackleLE131006

3x16, PHLE159012

Name tagLE159101

Spacer 6mmLE165026

Sealtite 970 1,5 ml (Glue) LE165991

J

K

302-003-002

6/6

LE16502

LE13100

LE15910

LE15901

F

G

LE16599


